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Beginning C++ Programming  

  

Stream Manipulators - integers  

  

  

There is an error in the slide around 2:10 in the video.  

  

The result of displaying 255 in octal should be 377 not 277.  

 

Thanks to Jeremy for pointing that out.  

 

 

At 1:12 in the video is say that a hexadecimal digit represents 8 bits. This is incorrect, a hexadecimal digit 

represents 4 bits, also called a nibble. 

 

Thanks to Salim, Jonathan and Larry for pointing that out. 

Best regards,  

Frank Mitropoulos 


